

$$x^{(t-1/t)} \mathbf{e} \stackrel{\text{Bes}}{=} \sum_k^{\mathbb{Z}} t^k x^k \boxed{\frac{-x^2}{k+1}}$$

$$-1 |1|_{\frac{2}{m}} \mathbb{C} \xleftarrow{\mathcal{J}} -1 |1|_{\frac{2}{m}} \mathbb{C}$$

$$\widehat{\mathcal{J}} = x^2 \mathfrak{J} + x \mathfrak{J} + x^2 \mathfrak{J} = \nu^2 \mathfrak{J} \text{ Bes}$$

$$\widehat{\mathcal{K}} = x^2 \mathfrak{J} + x \mathfrak{J} - x^2 \mathfrak{J} = \nu^2 \mathfrak{J} \text{ mBes}$$

$$x^\nu \boxed{\frac{-x^2}{1+\nu}} = {}^{2x} \mathcal{J}_\nu$$

$$x^{-\nu} \boxed{\frac{-x^2}{1-\nu}}$$

$$x^\nu \boxed{\frac{x^2}{1+\nu}} = {}^{2x} \mathcal{K}_\nu$$

$$x^{-\nu} \boxed{\frac{x^2}{1-\nu}}$$

$$x^\mu \boxed{\frac{-x^2}{1+\mu}} x^\nu \boxed{\frac{-x^2}{1+\nu}} = x^{\mu+\nu} \boxed{\frac{-4x^2}{1+\mu+\nu}}$$